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Rubric:  All work must be shown for anything to be considered "correct"
· 10 points:
All possible outcomes listed,




Correct probability of winning stated,




Answer to offer stated and explained with all work shown


·  8 points:
Three of the four above correct with all work shown

·  6 points:
Two of the four correct with all work shown

·  4 points:
One of the four correct with all work shown

·  2 points:
None of the four correct, but attempted with work shown

·  0 points:
No parts attempted or correct 
